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Q.1 Amongst the following words,

which will appear fourth in the

dictionary?

fAteTRaa ® O =19 97 vIee, IR o
SHATTETR STe TATT T ST

A)KNOW  B) KNACK
C) KNIT D) KNOB
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Q.2 In a certain code language, "MOTHER"
is written as '"NPUGDQ". How is
"ORANGLE" written in that code language ?

T fafste wig Wt & "MOTHER" <0

"NPUGDQ" for@ar Simar 2] 30 whig War o
"ORANGE" &' forer TR fer@at smom

A) PSBMDF B) PSBMFD
C) PBSMFD D) PSBDMF
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Q.3 Five girls E, F, G, H and I are standing in a row.

H is on the right of G. I is on the left of G, but is on
the right of F. H is on the left of E. Who is standing on

the extreme right?

U ASfRATE, F, G, H 3R [ TRt W @S &1 H, G &
Tt AR RN 1, G o aTT 3T R, foheq F oF 91l @RI 0, E
o AT TR 2] 270 B WX hid T 8 (

A)F B) G
C)H D)E
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Q.4 How many triangles
are there in the figure

given below?

& 3 erreRfa  fohaw
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Q5If4-3-2=24and6-1-2=12,then5-4-1=7?

T 4-3-2=24qAT6-1-2=128,AT5-4-1=2
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Q.6 Directions: Complete the given series.

fdeT: & T3 et w T

— abbcc — beca — ccaa — baa — bcec.

A) aabba B) ababa
C) ababb D) aabce
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Q.7 Select the odd

word/letters/number/number pair

from the given alternatives
fou U fereheat O faww vTeg / 31 /
AT / WA I Hl Y

=~ o
& o
« |- l ‘ f -
7 , e e _j ~a
(o .

) . N
A \_/ oy

A)862  B) 835
C) 439 D) 147
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Question figure :

i

Answer figure :

Q.8 From the given answer
figures, select the one in
which the question figure is
hidden/embedded

<t 78 ST SRt ¥ & v
e s et g v
T ATHRA TR &l

(@)
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Q.9 A man showed a boy next to him and said -

""He is the son of my wife’s sister-in-law, but I
am the only child of my parents." How is my

son related to him ?

Tk TR = 3T € 3T Teh TSk i [G@TT 3R
T Th- g A Ul T AT /T U @, Tohe &
I WIAT-TT Y TRATAT HAT 51°° W T T
IO T HAL G2

A) TIORT/WRIT |TE/Cousin B) TS,
C) TT=T/ATHT/Uncle D) 9 TSTT/Nephew
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Q.10 X walked 35 metres towards South, then turned left and

walked 25 metres, and again turned left and walked for 35 metres.
He then turned to his right and walked 20 metres. At what

distance and direction from the starting point is X now standing?

X, FFer0T fE9I & 35 Hiet wret & a1g Jid ggart 25 WIS oerdt 81 AR
O & 19 ggert 35 HIeT <rerar 21 T, o o1 S geet 20 Hied
TCTAT 2, AX S 98 TeAT-Foret § forat X ofit formr feomm A wer 22
A) 20 . af2rH/20 m West
B) 45 HI. U5/45 m East

C) 20 H1. =/20 m East

| | D ) 45 HY. 31/45 m North
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Q.11 Find the missing number in the given series.
3 TS U | o TEAT AT hi o]
6,12, 21, ?,48
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Q.12 &hYA:/ Statements:

aul aseh ug §|/All roads are trees.

aﬁé ot ﬁ-s-n@-—r Hﬁ%VNO tree is soap.
fsRw:/ Conclusions:

I. Elﬁ'é‘ ot qdT Ugeh L %VNO soap is road.
II. gmﬁgm%vs()me trees are roads.
I11. Elﬁé ot TS+ SIS CE| %VNO road is soap.

A)Onlyl  B)OnlyII
C) Only III D) All follow
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Q.13 Statement: /A
Death keeps no calendar. /Acq Wﬂﬁé%@?ﬁ%%l
Conclusions: /fFeery:
I. Everyone has to die one day. /&t &I Teh fod |1AT 2l
II. Death is a remedy for all ills. /Hcq Y S HTRAT T AT 2
A) if only conclusion (I) follows /aTS et T I STTHIUT HIAT 2
B) if only conclusion (IT) follows /AT ShaeT T 11 STTHIUT HIAT 2
C) if either (I) or (IT) follows/afg AT AT I AT I1 STTERUT THIAT Bl
D) if neither (I) nor (IT) follows/aTa T @¥ I T &Y I1 TTEUT THIAT 2
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Q.14 If + means =, X means +, — means

X and — means —, then what is the value

of 46 ~24 +4 X 8§ — 3=?

IR '+ HIAAAT ' + ' 8, ' X' T HAAS "+’
2, - HTHAA 'X' B, ' HTHAAT '
qr 46 +~ 24 + 4 X 8 — 3 KT UNHTUT AT
BITT?
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Q.15 Identity the diagram that correctly

represents the relationship among Blue

eyed persons, Females and Doctors.

qE AN@ YHT A AT T arer
safwdl, Rl SR STl & ST ey
T feaor T B

©:
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Q.16 DIRECTIONS: Which of the following figure

is the correct mirror image of the given figure

fdor: TereReat 7 &t 718 shia-HY STTeRfd & T8 T HATehTd
T TET FUUT Tfefervdl §

Question figure :

e

Answer figure: 1 /N0
9 N
Lot \
\ 2L} ik

| ‘ ‘ | RO o I
(A) (B) (C)

(D)
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Q.171f264*2=6,870*3=11,then 735 *5=7?

e 264 %2=6,870*3=11,AM735*5=2
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Q.18 Mrs. Susheela celebrated her wedding
anniversary on Tuesday, 30th September, 1997.
When will she celebrate her next wedding

anniversary on the same day?

sftarelt goftetr oo wITe <ht |Tering 30 foawer, 1997
I HITAIR ! HATAT § a1 98 WAl IR 379 OTARRE
T 30 IWT fa7 s AT

A)2004 B)2000
C)2003 D) 2002
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Q.19 what comes in place of ?

TATEIh TeIwg oh €A U SATTT
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Q.20 DIRECTIONS: Choose the correct

alternative from the given ones that will
complete the series :

o fou o forereat & & <@ giiw S oA
aﬁugraﬁm :

MNBA, OPDC, QRFE, ?

A)STGH  B)STKH
C) STKJ D) STHG
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Q.21 Amit is 15" from the front in a column of

boys . There are thrice as many behind him as
there are in front . How many Boys are there
between Amit and seventh boy from the end of the

column ?

TShI o Teh hicTH § TR 3T A 155 TATT W 2
R ara 2, 398 9 T oD § fem Sk e o
T 3R ATaa ISk o s fohd TTgeh 87

A. 30

| . B. 32
( > C. 35

D. C.N.D.




| MISSION SELECTION - SSC 2024 |

Q.22 Akshay is 16™ from the left end in a row of boys
and Vijay is 18" from the right end . Avinash is 11"
from the Akshay Towards the right end and 3" from

Vijay towards the right end . How many boys are

there in the row ?

T TSkl <hT Ueh UTh H AT BR A 163 FATH W & 3N
oo T B W 189 TUTH WX 21 ATSHTIT, 19 | 2 BR
hT 3T 1137 3R TOST © S 81X shi 3T dET 81 U |
ﬁb‘cﬁ‘ﬁ?ﬁﬁ%" A.Data in adequate
B. 42

C.40

D. 41
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Q.23 Hitesh is 27" from the left end of a row
of 49 boys and Maneesh is 27" from the
right end in the same row. How many Boys
are there between them in the row ?

49 TSh! <hT Ueh Uitk o Il R & f2ar 279
TIT W1 B AR 3t ufer O 0w R s A 279
oI T 31 R 3R St R oo $2

A.6
B.3
C.5
D. Data inadequate
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Q.24 which answer figure can be
formed by folding the figure given

in the question?

T | &Y TS STTRT Rl AIGHT i ©T
IR STTER{A TATS AT Tehell 82
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Q.25 which answer figure can be

formed by folding the figure given in

the question?

T | &Y TS STTehTd hi HIGHT hi ©T
IR ST TATE AT Hhel T &2







